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RLIL20) 11 [WESGERN (1A %) 8.903| 50| 4,451 0 0 0 0 0 0 of o 445 of
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B . 438, 7423, 036, 831 1,600, 225] 197,317 30, 440 0] 94,867 0| 48 864| 529, 761| 96, 416] 602, 560




(FH{THX 4)

= M B %

[BEEEx#]

(HHZE1 B [HB X5F]

(B{H7 - FD

HIRE EHE HRARE (EEONIR)
%88 |snm RENERE - ik wAE | Em RBTHR
&5 : (9) Exman | @ SBR | casEx E“g‘,‘*’i munmk | xHBAR | smmx | e APER

RZ1.6| 1 AV 4504 25~ 14.190) 2,000 50 1, 000 'T. 000 0 0 0 0 0 0 0 0 ¢
R2.1.71 2 |¥EEsEE (WMEFHE) (12A4) 3,888 100 3. 888 0 0 0 0 0 0 3.888 0 0 0
R2.1.10[ 3 (AW 4314 15~ 14.198) 2,000 50 1,000 1, 000 0 0 0 0 0 0 ) 0 0“
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R2.3.15 11 [HW Y404 15- 14.190) 2,000 50' 1, 000 1, 000 0 0 0 0 0 0 0 ¢ 0
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